
Time: 10 Minutes Paper Math 5 Total Marks: 10

2nd Month, 1st Week, 1st Day Syllabus: Exercise # 1  Q No. 1

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. HCF of 58, 72 is: »»»»¬¬¬¬››››ZZZZWWWWìììì:::: 72 ZZZZzzzzgggg 58

(a) 2 (b) 4 (c) 6 (d) 8

ii. HCF of 21, 48 is: »»»»¬¬¬¬››››ZZZZWWWWìììì:::: 48 ZZZZzzzzgggg 21

(a) 3 (b) 4 (c) 5 (d) 6

iii. HCF of 56 and 70 is: »»»»¬¬¬¬››››ZZZZWWWWìììì:::: 70 ZZZZzzzzgggg 56

(a) 15 (b) 14 (c) 16 (d) 12

iv. HCF of 45 and 90 is: »»»»¬¬¬¬››››ZZZZWWWWìììì:::: 90 ZZZZzzzzgggg 45

(a) 45 (b) 40 (c) 35 (d) 30

v. HCF of 42, 49 is: »»»»¬¬¬¬››››ZZZZWWWWìììì:::: 49 ZZZZzzzzgggg 42

(a) 4 (b) 6 (c) 9 (d) 8

Q.No.1.   Find HCF of following by prime factorization: (2)

ŠŠŠŠgggg̀`̀̀ffffssss»»»»¬¬¬¬››››ZZZZWWWW&&&&++++gggg====GGGGŠŠŠŠ‹‹‹‹~~~~¥¥¥¥xxxx™™™™,,,,:::: ::::1 ÎÎÎÎZZZZwwww����

(i)     15, 18, 56
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____________________________________________________________________________________

____________________________________________________________________________________

____________________________________________________________________________________

____________________________________________________________________________________

____________________________________________________________________________________
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